

PAGE	CUST NO	YARD #	INVOICE DATE							
1 of 1	1002716	1718	10/09/2018							
	INVOICE NUMBER									
92820523										

Pratt

(620) 672-1201

B MERIT ENERGY

! PO BOX 250

L HOLCOMB

KS US

O ATTN:

67851

ALISHA

LEASE NAME

Tait B-6

0 LOCATION В

COUNTY

Finney

S STATE

KS

JOB DESCRIPTION Т

Cement-New Well Casing/Pi

E JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
41138089	19842		•		Net - 30 days	11/08/2018
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	s: 10/03/2018 to	10/03/2018			¥	
0041138089			C.		4	
						,
171815952L Cement PTA	ent-New Well Casing/I	Pi 10/03/2018				
60/40 POZ			210.00		9.00	
Celloflake			165.00		2.78	458.70
Cement Gel	(D) (352.00		0.19	66.88
	(PU, cars one way)"		80.00		3.38	270.40
Heavy Equipment I	villeage el. Chgs., per ton mil		160.00 724.00		5.63 1.88	900.80 1,361.12
Blending & Mixing			210.00	EA SK	1.05	, 220.50
Cement Data Acqu		•	1.00	EA	412.50	412.50
Depth Charge; 500			1.00	1	2,160.00	2,160.00
	r, first 8 hrs on loc.		1.00		131.25	131.25
Additional Discount			1.00		787.22-	787.22-
,						(20)

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

PO BOX 841903 DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP 801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

SUB TOTAL

INVOICE TOTAL

192.04 7,276.97



1700 S. Country Estates Raod Liberal, KS 67901 PH (620)-624-2277FAX (620) 624-2280

SERVICE ORDER - 1718 15952 L

	Date:	10/3/2018	
0041138089		10.1-	

Well Name: Tait B-6				Location: 6,25,33	
County - State:				RRC #:	
Finney, Ks				\9843 Customer's Order #:	-7_
Type Of Service: Z42 - Plug to Ab	andon		1002716-200768		
	Customer:	Merit Ener	ду		
	Address:	Po 130 Nol Cu AFE# 6213	gardencity, invoices e	meritenergy.	Com
the collection costs and a	ttornay feas. Thes	e terms and cond	y Basic Energy Services in accord with the rates and terms stated in Basic Energy Services current price lists. Invoices are payable Nomer agrees to pay interest thereon after default at 18% per annum. In the event it becomes necessary to employ an attorney to enfort dones shall be governed by the laws of the state where services are performed or equipment or materials are furnished. Lippies and materials and that the same are free from defects in workmanship. THERE ARE NO WASRANTIES, EXPRESS OR IMPLE OF AREA OF A CONTROLLED AND A CONTROLLED A		i i
contract, tort, product liab or, at Basic Energy Servi	ility, breach of wa ices. option, to the	ranty or otherwise allowance to the	of a disting out of the sale or use of any products, supplies, or materials upon their return to Basic Energy Services, its expressly limited Customer of credit for the cost of such items. In no event shall Basic Energy Services be liable for special, indirect, puritive or consequences.	to the replacement of such products, s uential damages.	upplies or materials
CODE	QTY	UOM	DESCRIPTION	PRICE	TOTAL
CL103	210	Sk	60/40 POZ	12.00	2520.00
CC102	165	Lb	Celloflake	3.70	610.50
CC200	352	Lb	Cement Gel	0.25	88.00
E101	160	Mi	Heavy Equipment Mileage	7.50	1200.00
CE240	210	Sk	Blending & Mixing Service Charge	1.40	294.00
E113	724	Tn/Mi	Proppant and Bulk Delivery Charges, per ton mile	2.50 2880.00	1810.00 2880.00
CE206	80	4 Hrs Mi	Depth Charge; 5001-6000' Unit Mileage Charge-Pickups, Small Vans & Cars (one way)	4.50	360.00
E100 S003	80	Ea	Service Supervisor, first 8 hrs on loc.	175.00	175.00
T105	1	Ea	Cement Data Acquisition Monitor / Strip Chart Recorder	550.00	550.00
1103	 	Lu	Committee Date Acquisition Monitor A Strip Chart (1000) as		
	-				
				office of a self-resident	
			Man		
			***		contes de la est
			AFR LCVI		
			THE R		
			GI	7	
			(2)		
			Occ Parts		
			THICA CONTRACTOR		
	100	the speciments	Day C Las		
			Sale Sale		
			THE COLOR		
			10-5-64		
			717		
					840 407 50
			-	Book Total:	\$10,487.50
			ļ-	Taxes:	\$7,872.15
			Additional 10% Discount as per Agreement on Cement Services	Disc. Price: 10% Disc	\$7,872.15
			Additional 10% discount as per Agreement on Cement Services	Adjusted Price	\$7,084.94
					NO 7084.9
DILLIO TOUGHT	חבם,	0750 40040	THIS JOB WAS SATISFACTORILY COMPLETED	YES	U bear
PUMP TRUCK NUM	REK:	38750, 19842	OPERATION OF EQUIRMENT WAS SATISFACTORY	₩	Ħ
DOWER A	.15	60.	OPERATION OF EQUIPMENT WAS SATISFACTORY PERFORMANCE OF PERSONEL WAS SATISFACTORY	₹	ö
DRIVER: Ang	erc	neve	PERFORMANCE OF PERSONEL WAS SATISFACTORY	T	_
Pa	1.0	00	Be Wanter Slan	14	
ajan	<i>LOW</i>	OFFICE	CUSTOMEROR HI	PACENT	~~
BAS	SIC ENERGY	SERVICES	CUSTOMERORHI	D AGENT	TO.
2.1.	O	- Can			
Gustomer	Comments of	i Concerns:			
					441
					W

MHR 28





Liberal Yard #1717 - Phone 620-624-2277 - 1700 S. Country Estates Road, Liberal KS 67901

PRESSURE PUMPING

Job Log

			1 1 1		JOD LOG								
Customer:		Merit Energy			Cement Pump No.:	38750, 19	9842 Hrs. Operator TRK No.: 96816			16			
Address:					Ticket #:	1718 1	8 15952 L Bulk TRK No.: 14355, 37724 Noel						
City, State, Zip:	AFE# 62135				Job Type:	Z42 - Plug to Abandon			lon				
Service District:	171	18 - Liberal, K	s.		Well Type:	OIL							
Vell Name and No.:		Tait B-6			Well Location:	6,25,33	County:	r: Finney state:					
Туре	of Cmt	Sacks			Additives		Truck Lo		aded On			aded On	
60/40	Poz	210	4% Total Gel - 1/4# Pe		olyflake	14355, 37724 Noel		Front	Back				
									Front	Back			
		·							Front	Back			
Lead	Tail:	Weight #1 Gal.	Cu/l	-t/sk	Water Requirements		CU. FT.	Man	lours / Personnel				
Та	il:	13.5	1.	51	7.	.5	317.1 TT Man Hours:		28				
								# of Men on Job:	3				
Time		Volume	Pu	mps	Press	sure(PSI)	D	escription of Oper	ation and Material	S			
(am/pm)	(BPM)	(BBLS)	Т	С	Tubing	Casing							
3:10		r or to restor						ON LOC					
3:15								SAFETY N					
3:30 AM								RIG					
3:42 AM	5	13.4 slurry				320	PUMP	PLUG #1 / 50		1850'			
3:45 AM	5.9	10			22	40		DISPL	ACE				
	5.9	20				180							
3:50	5.9	22.8				200	SHUTDOWN / PUL D.P.						
4:34 AM	4.6	13.4 slurry				140	PUMP PLUG # 2 / 50SX @ 13.5# / 960'						
4:37	4.5	10.3		5 V		140	DISPLACE						
4:40		10 = 1				450	SHUTDOWN / PUL D.P.						
5:06	5	10.7 slurry				150	PUMP PLUG #3 / 40SX @ 13.5# / 420' DISPLACE						
5:08	5.2	3.3				40							
5:09							SHUTDOWN / PUL D.P.			. eo!			
6:06		5.3 slurry		-			PUMP PLUG # 4 / 20SX @ 13.5# / 60'						
6:08		12.4 oluma			,		SHUTDOWN / PUL D.P.			/			
6:17		13.4 slurry					PLUG RAT & MOUSE W/ 50SX JOB COMPLETE			\ a			
								000 001					
					V 10 - 5 1			property and	······································				
9 10	,												
Oima III-I-	7 7/01	Desth					TYPE		Swass	a de la regal acción			
Size Hole	7 7/8"	Depth			New / Used		Packer		Swage Depth				
Size & Wt. Csg. Drill Pipe	8 5/8" 24#	Depth			New / Usea		Retainer		Depth Depth				
Plugs	4 1/2" 16.6# 1850'	Depth 960'	43	20'	60'	Rat & Mouse			CIBP				
, 1490	1000	900	44	_0	00				Daniel Beck				
Customer Signature:√					Basic Representative: Basic Signature:		Daniel Beck						
Sustainer Signature.							ex me						
	1					Date of Servic	C.	10/3/2018					

